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19. A farmer wants to fence in a field with area 800 square feet. One side of the field will

border a river and does not require fencing. What is the minimum amount of fencing
needed? Label your answer and show a check that you have found a minimum.
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20. An open box is made from a rectangle piece of paper with 10 cm in length and by 6 cm
in width, by cuttingg equal squares from each corner and folding up the sides. Make a

careful sketch and find the volume of the box with the greatest capacity that can be so
constructed. veiwme
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21. State the Mean Value Theorem. * ¥ f s e ¥““(%'0“ %\\“J( = CW{—H\“WS o a
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22. Find the most general antiderivative of f(x) = 4sec?x — sec z tanz + 3e®
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23. Find f given f'(r) = 8% + 2 +— +1land f(1)="7.
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24. Evaluate the following definite integrals.
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25. Evaluate the following indefinite integrals.
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